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3.1 RO E=EE

REERAT
(az+b)2=azz+2ab+b2 a3—b3:(a—b)(a2+ab+b2)

(a-b)’=a*=3a*b+3ab’ ~b @'+b'=(a+b)(a’—ab+b')

a’ b’ =(a+b)(a—0b) (a+b)3 =0’ +3a’h+3ab’ 45





















3.1 RO E=EE

© JFEHAER, EEM<-1,(-1,0),0,1),> 1 IINXEZEE .

- RNEZBR-1,0,| = MEFRIER

BRREZR, &R












3.1 RO E=EE

A certain right triangle has sides of length x,y and z, where x< y <z
If the area of this triangular region is 1,which of the the following
indicates all of the possible values of y ?

A-y>\/5 R§<y<\/5

C£< <£ D£< <£

377 B
5

E. v<—/

4



3.1 RO E=EE

Material A costs $3 per kilogram ,and material B costs $5 per kilogram .If 10 kilograms of
material K consists of x kilograms of material A and y kilograms of material B ,is x>y ?

(1) y>4

(2) The cost of the 10 kilograms of material K is less than $40

A. Statement (1) ALONE is sufficient ,but statement (2) alone is not sufficient .

B. Statement (2) ALONE is sufficient ,but statement () alone is not sufficient .

C.BOTH statement TOGETHER are sufficient ,but NEITHER statement ALONE is sufficient
D. EACH statement ALONE is sufficient

E. Statement (1)and (2) TOGETHER are NOT sufficient






3.1 RO E=EE

The operation* represents either addition ,subtraction,or multiplication of integers ,what is
the value of 1*0?

(1) 0%2=2

(2) 2¥0=2

A. Statement (1) ALONE is sufficient ,but statement (2) alone is not sufficient .

B. Statement (2) ALONE is sufficient ,but statement () alone is not sufficient .

C.BOTH statement TOGETHER are sufficient ,but NEITHER statement ALONE is sufficient
D. EACH statement ALONE is sufficient

E. Statement (1)and (2) TOGETHER are NOT sufficient .












